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actual median = 34.5, i.e., a good approximation
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= 61 students b =91 students ¢ = 76 students
24 (or 25) students e 76 marks

8 b i 40 1ii 40

288 min b 35 ¢ 26.5 min

26 years b 41.5% e i 0.556 ii 0.0287

2270 h b 69.3% ¢
478m b 120r13 ¢

62 or 63 d 0.0854
50o0r51 d 35 e 0.0733

EXERCISE 18D.1 I

ngo ongo

oo Ango O

i 6 0i Q=4 Q=7 iii 7 iv 3

i 175 i Q=15 Q3=19 iii 14 iv 4

i 249 i Q =235 Q3=261 iii 7.7 v 26
i 128 ii Qi =121, Qs =140.5 il 45 v 19.5

median = 2.45, Q; = 1.45, Q3 = 3.8
range = 5.2, IQR = 2.35
i greater than 2.45 min i less than 3.8 min
iii The minimum waiting time was 0 minutes and the max-
imum waiting time was 5.2 minutes. The waiting times
were spread over 5.2 minutes.
3 b 42 ¢ 20 d 13 e 29 f 39 g 16
i 124cm ii Q; =116 cm, Q3 = 130 cm
i 124 cm i 130 cm tall
i 29cm i 14cm d ... over 14 cm
i 7 i 6 i 5 iv 65 v 1.5
i 10 ii 7 iii 6 v 8 v 2

EXERCISE 18D.2 I

i 35 1i 78 iii iv 53 v 26 b i
...... was 98 b was 25

.... greater than or equal to 70 d .... at least 85 marks
between 55 and 85 f 73 g 30

i min =3, Q1 =5, median =6, Q3 =8, max = 10

13 65 1 27

iii range=7 iv IQR=3

9

10 a 480 b 120 marks

b

a
e

i mn=0, Qi =4, median="7, Q3 =8, max = 9

ii

o 1 2 3 4 5 6 7 8 9
jiii range=9 iv IQR=14
i min=117, Q; =127, median =132, Q3 = 145.5,
max = 151

115 120 125 130 135 140 145 150 155
iii range =34 iv IQR =185

median = 905 g, Q1 =899 ¢, Q3 =913 g,

max weight = 927 g, min weight = 883 g

— [

880 890 900 910 920 930
weight of loaf (g)

i IQR=14¢ ii
at least 905 g i

spread over 14 g
[ A a weight of 899 g or less
a little negatively skewed

range = 44 g
25% of the loaves

Statistic | Year 9 | Year 12 b i Year9: 11,
min value 1 6 Year 12: 11.5
Q1 5 10 ii Year 9: 5,

median 7.5 14 Year 12: 6
Qs 10 16 ¢ i true
max value 12 17.5 ii true

median =6, Q; =5, Q3 =8 b 3

2 3 4 5 6 7 8 9 10 11 12 13

Min, = 33, Q1 = 35, Q2 = 36, Qs = 37, Max, = 40

i 7 i 2 c
30 31 32 33 34 35 36 37 38 39 40 41
10 b =283% ¢ 7Tcm d IQR = 2.6 cm

10 cm, which means that 90% of the seedlings have a
height of 10 cm or less.

27min b 29 min ¢ 31% min d IQR = 4% min
28 min 10 sec

¢ 84 d IQR=28 e 107 marks

EXERCISE 18E.1 I
aT=487,Ming =1,Q1 =3,Q:=5,Q3 =7, Max, = 9
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frequency

» score

[T ] T 1

1 2 3 4 5 6 7 8

d T=524, Min, =2, Q1 =4, Q2 = 5, Q3 = 6.5,

Max, =9 —] F— set 1
— T set2

o 1 2 3 4 5 6 7 8 9 10




